# Growth of Entire Harmonic Functions in $\boldsymbol{R}^{n}$, $n \geq 2$ * 

Devendra Kumar ${ }^{\dagger}$<br>Department of Mathematics, M. M. H. College, Model Town, Ghaziabad-201001, U. P., India

Received March 26, 2009, Accepted July 6, 2009.


#### Abstract

Let $h$ be a harmonic function on $R^{n}, n \geq 2$. Then there exists on entire function $f$ on $C$ such that $f(u)=h(u, 0, \ldots ., 0)$ for all real $u$.This fact has been used to deduce theorems for harmonic function on $R^{n}$ from classical results about entire functions. Moreover, we have considered the characterizations of lower order and lower type of $h$ in terms of coefficients and ratio of these successive coefficients occurring in power series expansion of $f$.


Keywords and Phrases: Homogeneous harmonic polynomials, Entire harmonic function, Laplace's equation, Lower order and lower type.

## 1. Introduction

A twice differentiable function $h(x), x=\left(x_{1}, x_{2}, \cdots, x_{n}\right)$, which is a solution of Laplace's equation

$$
\frac{\partial^{2} h}{\partial x_{1}^{2}}+\frac{\partial^{2} h}{\partial x_{2}^{2}}+\cdots+\frac{\partial^{2} h}{\partial x_{n}^{2}}=0
$$

[^0]said to be harmonic in $R^{n}, n \geq 2$. If $h$ is harmonic in $R^{n}, n \geq 2$, then there is a unique entire (holomorphic) function on the complex plane $C$ such that $f(u)=h(u, 0, \cdots, 0)$ for all real $u$.

This fact has been used to deduce theorems for harmonic function on $R^{n}$ from classical results about entire functions [7,11]. The space of functions that are harmonic on $R^{n}$ is denoted by $\aleph_{n}$ and the space of entire functions on $C$ is denoted by $\varepsilon$. If $f \epsilon \aleph_{n}$ (respectively $\varepsilon$ ), then we write $M_{\infty}(f, r)$ for the maximum value of $|f|$ on the sphere of radius $r$ centered at origin and

$$
M_{2}(f, r)=\left(\int_{S}|f(r x)|^{2} d \sigma(x)\right)^{1 / 2}
$$

where $S$ is the unit sphere in $R^{n}$ (or the unit circle in $C$ ) and $\sigma$ is $(n-1)$ dimensional surface measure (or length measure )normalized so that $\sigma(s)=1$.

Let $\aleph_{m, n}$ denote the vector space of all homogenous harmonic polynomials of degree $m$ on $R^{n}$. Then $\aleph_{m, n}$ is a vector space of dimension

$$
d_{m}=(n+2 m-2) \frac{(n+m-3)!}{m!(n-2)!}
$$

Suppose that $h \epsilon \aleph_{n}$. Then $h$ has a unique expansion of the form

$$
\begin{equation*}
h=\Sigma_{m=0}^{\infty} H_{m} \tag{1.1}
\end{equation*}
$$

where $H_{m} \epsilon \aleph_{m, n}$, such that the series $\Sigma_{m=0}^{\infty}\left|H_{m}\right|$ is locally uniformly convergent on $R^{n}[1, p .84]$. We then say $\Sigma_{m=0}^{\infty} H_{m}$ is the polynomial expansion of $h$. Write $e^{*}$ for the vector $(1,0, \cdots, 0)$ in $R^{n}$, we have

$$
h\left(u e^{*}\right)=\Sigma_{m=0}^{\infty} H_{m}\left(u e^{*}\right)=\Sigma_{m=0}^{\infty} H_{m}\left(e^{*}\right) u^{m} \text { for all real } u
$$

Let

$$
\begin{equation*}
f(z)=\Sigma_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m} . \tag{1.2}
\end{equation*}
$$

The power series converges for all real numbers and hence all complex $z$,so $f \epsilon \varepsilon$.
Following the usual definitions of order and type of an entire function of several complex variables, the order $\rho$ and type $T$ of $h$ are defined as

$$
\begin{aligned}
\rho & =\lim _{r \rightarrow \infty} \sup \frac{\log \log M_{\infty}(h, r)}{\log r} \\
T & =\lim _{r \rightarrow \infty} \sup \frac{\log M_{\infty}(h, r)}{r^{\rho}}, \quad o<\rho<\infty
\end{aligned}
$$

where $M_{\infty}(h, r)$ is the maximum value of $|h|$ on the sphere in $R^{n}$ of radius $r$ centered at origin.

Using various techniques, the coefficient characterizations of order $\rho$ and type $T$ in $R^{3}$ were obtained by Fryant [5] and others. Srivastava [14] also obtained the coefficient characterizations of lower order and lower type in $R^{3}$. However non of them studied the growth of entire harmonic function $h$ in $R^{n}, n>3$.

In this paper we consider the characterizations of lower order and lower type in terms of $H_{m}\left(e^{*}\right)$ and ratio of these coefficients in $R^{n}, n \geq 2$.

## 2. Auxiliary Results

Lemma 1. The harmonic function $h \in \aleph_{n}$ can be extended to an entire function if and only if

$$
\begin{equation*}
\lim _{m \rightarrow \infty}\left|H_{m}\left(e^{*}\right)\right|^{1 / m}=0 \tag{2.1}
\end{equation*}
$$

where $H_{m}\left(e^{*}\right)$ are defined in (1.2).
Proof. Since the power series defined by (1.2) is converges for all real and hence all complex $z$, so $f$ is entire. Hence using the well known condition for entire function $f$ we can easily prove the lemma [3,pp.27-28].

Lemma 2. If $h \in \aleph_{n}$ then $f$ and $g$ are also entire functions. Further

$$
\begin{equation*}
K_{1} M_{\infty}(f, r) \leq M_{\infty}(h, r) \leq M_{\infty}(g, r), \tag{2.2}
\end{equation*}
$$

where $g(z)=\Sigma_{m=o}^{\infty} \sqrt{d_{m}} H_{m}\left(e^{*}\right) z^{m}$,

$$
M_{\infty}(f, r)=\max _{|z| \leq r}|f(z)|, M_{\infty}(g, r)=\max _{|z| \leq r}|g(z)|,
$$

$M_{\infty}(h, r)$ defined as earlier and $K_{1}$ is a constant depending on $m$.
Proof. Let $h \in \aleph_{n}$ can be extended to an entire function. In view of (2.1), we have

$$
\lim _{m \rightarrow \infty}\left(\sqrt{d_{m}}\left|H_{m}\left(e^{*}\right)\right|\right)^{1 / m}=\lim _{m \rightarrow \infty} d_{m}^{1 / 2 m} \cdot\left|H_{m}\left(e^{*}\right)\right|^{1 / m}=0, \quad\left(d_{m}^{1 / 2 m} \rightarrow 1 \text { as } m \rightarrow \infty\right) .
$$

Hence both $f$ and $g$ are entire functions. To prove inequalities in (2.2), we have by Brolet and Choquet [4, Prop.4]

$$
\begin{equation*}
\left|H_{m}\left(e^{*}\right)\right| \leq \sqrt{d_{m}} r^{-m} M_{2}(H, r) \quad\left(H \epsilon \aleph_{m, n}, r>0\right) \tag{2.3}
\end{equation*}
$$

where $d_{m}=\operatorname{dim} \aleph_{m, n}$. Since the series $h=\sum_{m=0}^{\infty} H_{m}$ converges uniformly on every sphere, we have

$$
\begin{equation*}
M_{2}^{2}(h, r)=\sum_{m=0}^{\infty} M_{2}^{2}\left(H_{m}, r\right) \quad(r>0) . \tag{2.4}
\end{equation*}
$$

In view of (2.3) and (2.4), we get

$$
\begin{equation*}
\left|H_{m}\left(e^{*}\right)\right| \leq \sqrt{d_{m}} r^{-m} M_{2}(h, r) . \tag{2.5}
\end{equation*}
$$

The power series expansion of $f(z)$ with the help of (2.5), leads to

$$
M_{\infty}(f, r)=\sum_{m=0}^{\infty}\left|H_{m}\left(e^{*}\right)\right| r^{m} \leq M_{2}(h, r) \sum_{m=0}^{\infty} \sqrt{d_{m}}
$$

Since $d_{m} \rightarrow \frac{2 m^{(n-2)}}{(n-2)!}$ as $m \rightarrow \infty$, it follows that there is a constant $K_{0}=K_{0}(m)$ such that

$$
M_{\infty}(f, r) \leq M_{2}(h, r) \sum_{m=0}^{\infty} K_{0} m^{(n-2) / 2} \quad(m \geq 1, r>0)
$$

or

$$
K_{1} M_{\infty}(f, r) \leq M_{2}(h, r), \quad K_{1}=\frac{1}{\sum_{m=0}^{\infty} K_{0} m^{(n-2) / 2}}
$$

It can be easily prove from [6, pp.106] that

$$
M_{2}(h, r) \leq M_{\infty}(h, r)
$$

For right hand inequality, following on the lines of proof of [6,Lemma 1,pp.106]
we have

$$
\begin{aligned}
\left|h\left(x e^{*}\right)\right| & =\left|\sum_{m=0}^{\infty} H_{m}\left(x e^{*}\right)\right|, \\
& =\left|\sum_{m=0}^{\infty} \sum_{j=1}^{d_{m}} H_{m_{j}}\left(e^{*}\right) r^{m} H_{m}^{j}(r x)\right| \\
& \leq \sum_{m=0}^{\infty} r^{m}\left|\sum_{j=1}^{d_{m}} H_{m_{j}}\left(e^{*}\right) H_{m}^{j}(r x)\right| \\
& \leq \sum_{m=0}^{\infty} r^{m}\left(\sum_{j=1}^{d_{m}}\left[H_{m_{j}}\left(e^{*}\right)\right]^{2}\right)^{\frac{1}{2}}\left(\sum_{j=1}^{d_{m}}\left[H_{m}^{j}(r x)\right]^{2}\right)^{\frac{1}{2}} .
\end{aligned}
$$

$H_{m}^{j}(r x)_{j=1}^{d_{m}}$ be an orthonormal basis for $\aleph_{m, n}$ as the spaces $\aleph_{m, n}$ are mutually orthogonal in the sense that

$$
\int_{S} H_{m}(r x) H_{i}(r x) d \sigma(x)=0
$$

$\left(H_{m} \epsilon \aleph_{m, n}, H_{i} \epsilon \aleph_{i, n}, m \neq i, r>0\right)$. Now in the consequence of the Pythagorean identity for spherical harmonics[15 ,pp.144], that is the identity

$$
\sum_{j=1}^{d_{m}}\left[H_{m}^{j}(x)\right]^{2}=d_{m}
$$

for all $x$ on the unit sphere. For, on the sphere of radius $r$, we get

$$
\left|h\left(x e^{*}\right)\right| \leq \sum_{0}^{\infty} r^{m}\left|H_{m}\left(e^{*}\right)\right| \sqrt{d_{m}}
$$

Thus we have

$$
M_{\infty}(h, r) \leq M_{\infty}(g, r)
$$

Hence the proof is completed.
Lemma 3. Let $f$ and $g$ be entire functions as defined above. Then orders and types of $f$ and $g$ are equal.

Proof. Let $f(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$ be an entire function of order $\rho(f)$ and type $T(f)$. Then it is well known [3,pp.9-11] that

$$
\begin{align*}
\rho(f) & =\limsup _{m \rightarrow \infty} \frac{m \log m}{\log \left|H_{m}\left(e^{*}\right)\right|^{-1}}  \tag{2.6}\\
T(f) & =\frac{1}{e \rho} \limsup _{m \rightarrow \infty} m\left|H_{m}\left(e^{*}\right)\right|^{\rho / m} \tag{2.7}
\end{align*}
$$

Hence for the function $g(z)=\sum_{m=0}^{\infty} \sqrt{d_{m}} H_{m}\left(e^{*}\right) z^{m}$, we have

$$
\begin{aligned}
\frac{1}{\rho(g)} & =\lim _{m \rightarrow \infty} \inf \frac{\log \sqrt{d_{m}}\left|H_{m}\left(e^{*}\right)\right|^{-1}}{m \log m} \\
& =\lim _{m \rightarrow \infty} \inf \frac{\log \left(d_{m}\right)^{-1 / 2}-\log \left|H_{m}\left(e^{*}\right)\right|}{m \log m} \\
& =\lim _{m \rightarrow \infty} \inf \left[\frac{\log \left|H_{m}\left(e^{*}\right)\right|^{-1}}{m \log m}-\frac{\log d_{m}^{1 / 2 m}}{\log m}\right]
\end{aligned}
$$

Since $d_{m}^{1 / 2 m} \rightarrow 1$ as $m \rightarrow \infty$,so we get

$$
\frac{1}{\rho(g)}=\lim _{m \rightarrow \infty} \inf \frac{\log \left|H_{m}\left(e^{*}\right)\right|^{-1}}{m \log m}
$$

Hence $\rho(f)=\rho(g)$. Now using (2.7) we can easily show that $T(f)=T(g)$. Hence the proof is completed.

Let $h \in \aleph_{n}$ can be extended to an entire function of order $\rho$ and type $T$. In analogy with these definitions, we define lower order $\lambda$ and lower type $t$ as

$$
\begin{aligned}
\lambda \equiv \lambda(h) & =\lim _{r \rightarrow \infty} \inf \frac{\log \log M_{\infty}(h, r)}{\log r} \\
t \equiv t(h) & =\lim _{r \rightarrow \infty} \inf \frac{\log M_{\infty}(h, r)}{r^{\rho}}, \quad 0<\rho<\infty
\end{aligned}
$$

Now we have
Lemma 4. If $\left(\left|H_{m}\left(e^{*}\right)\right| /\left|H_{m+1}\left(e^{*}\right)\right|\right)$ forms a non-decreasing function of $m$ then $\left(\alpha_{m} / \alpha_{m+1}\right)$ also form a non-decreasing function of $m$, where $\alpha_{m}=\sqrt{d_{m}}\left|H_{m}\left(e^{*}\right)\right|$.

Proof. We have

$$
\frac{\alpha_{m}}{\alpha_{m+1}}=\left[\frac{(n+2 m-2)(m+1)}{(n+2 m)(n+m-2)}\right]^{1 / 2}\left|\frac{H_{m}\left(e^{*}\right)}{H_{m+1}\left(e^{*}\right)}\right| .
$$

Let $f(x)=\left[\frac{(n+2 x-2)(x+1)}{(n+2 x)(n+x-2)}\right]^{1 / 2}$. By logarithmic differentiation, we have
$\frac{F^{\prime}(x)}{F(x)}=\frac{1}{2}\left[\frac{2}{n+2 x-2}+\frac{1}{x+1}-\frac{1}{x+n-2}-\frac{2}{2 x+n}\right]>0$ for any $x>0$.
Thus $F^{\prime}(x)>0$ for $x>0$. Hence $\frac{\alpha_{m}}{\alpha_{m+1}}$ is nondecreasing if $\left|\frac{H_{m}\left(e^{*}\right)}{H_{m+1}\left(e^{*}\right)}\right|$ is nondecreasing.

## 3. Main Results

Theorem 1. Let $h \in \aleph_{n}$ can be extended to an entire function of order $\rho$, lower order $\lambda$, type $T$ and lower type $t$. If $f$ and $g$ are entire functions as defined above, then

$$
\begin{align*}
& \rho(f)=\rho(g)=\rho(h)  \tag{3.1}\\
& T(f)=T(g)=T(h)  \tag{3.2}\\
& \lambda(f) \leq \lambda(h) \leq \lambda(g)  \tag{3.3}\\
& t(f) \leq t(h) \leq t(g) . \tag{3.4}
\end{align*}
$$

Proof. Using (2.2), we have

$$
\begin{aligned}
\limsup _{r \rightarrow \infty}(\inf ) \frac{\log \log \left(K_{1} M_{\infty}(f, r)\right)}{\log r} & \leq \limsup _{r \rightarrow \infty}(\mathrm{inf}) \frac{\log \log M_{\infty}(h, r)}{\log r} \\
& \leq \limsup _{r \rightarrow \infty}(\mathrm{inf}) \frac{\log \log M_{\infty}(g, r)}{\log r}
\end{aligned}
$$

It is well known [3, p-13] that for an entire function $f$ of finite order,

$$
\log M_{\infty}(f, r) \simeq \log m(f, r) \quad \text { as } \quad r \rightarrow \infty
$$

Where $m(f, r)$ is the maximum term in the power series expansion of $f(z)$. Hence in view of above inequalities we get

$$
\rho(f) \leq \rho(h) \leq \rho(g) ; \lambda(f) \leq \lambda(h) \leq \lambda(g) .
$$

Since $\rho(f)=\rho(g)$, we thus obtain (3.1) and (3.3). Denoting by $\rho$ the common value of orders of $f, g$ and $h$, we have from (2.2),

$$
\limsup _{r \rightarrow \infty} \frac{\log m(f, r)}{r^{\rho}} \leq \limsup _{r \rightarrow \infty} \frac{\log M_{\infty}(h, r)}{r^{\rho}} \leq \limsup _{r \rightarrow \infty} \frac{\log M_{\infty}(g, r)}{r^{\rho}}
$$

Hence using Lemma 3 we get (3.2). Similarly we can prove (3.4).
Theorem 2. Let $h \in \aleph_{n}$ can be extended to an entire function of order $\rho(0<$ $\rho<\infty)$, type $T$ and lower type $t$. Then

$$
\begin{equation*}
\lim _{m \rightarrow \infty} \inf \frac{m}{\rho}\left(\frac{\left|H_{m+1}\left(e^{*}\right)\right|}{\left|H_{m}\left(e^{*}\right)\right|}\right)^{\rho} \leq t \leq T \leq \limsup _{m \rightarrow \infty} \frac{m}{\rho}\left(\frac{\left|H_{m+1}\left(e^{*}\right)\right|}{\left|H_{m}\left(e^{*}\right)\right|}\right)^{\rho} \tag{3.5}
\end{equation*}
$$

Further, if $\left(\left|H_{m}\left(e^{*}\right)\right| /\left|H_{m+1}\left(e^{*}\right)\right|\right)$ forms a non-decreasing function of $m$ for all $m>m_{0}$, then

$$
\begin{gather*}
\limsup _{m \rightarrow \infty} \frac{m}{\rho}\left(\frac{\left|H_{m+1}\left(e^{*}\right)\right|}{\left|H_{m}\left(e^{*}\right)\right|}\right)^{\rho} \leq e T,  \tag{3.6}\\
\limsup _{m \rightarrow \infty} \frac{\log m}{\log \left(\left|H_{m}\left(e^{*}\right)\right| /\left|H_{m+1}\left(e^{*}\right)\right|\right)}=\rho . \tag{3.7}
\end{gather*}
$$

Proof. If $F(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$ is an entire function of order $\rho$, type $T$ and lower type $t$, then we have [8, Thm.1]

$$
\begin{equation*}
\lim _{m \rightarrow \infty} \inf \frac{m}{\rho}\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|^{\rho} \leq t \leq T \leq \limsup _{m \rightarrow \infty} \frac{m}{\rho}\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|^{\rho} . \tag{3.8}
\end{equation*}
$$

Applying left hand inequality to $f(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$, we get

$$
\lim _{m \rightarrow \infty} \inf \frac{m}{\rho}\left[\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|\right]^{\rho} \leq t(f), \quad i . e, t(f) \leq t(h)=t
$$

To prove right hand inequality of (3.5), we consider the entire function $g(z)=\sum_{m=0}^{\infty} \sqrt{d_{m}} H_{m}\left(e^{*}\right) z^{m}$. Then we obtain

$$
T(g) \leq \limsup _{m \rightarrow \infty} \frac{m}{\rho}\left[\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|\left(\frac{(n+m-2)(n+2 m)}{(n+2 m-2)(m+1)}\right)^{1 / 2}\right]^{\rho}
$$

Now we consider

$$
\begin{aligned}
& \frac{1}{2}[\log (n+m-2)+\log (n+2 m)-\log (n+2 m-2)-\log (m+1)] \\
= & \frac{1}{2}\left[\log m+\log \left(1+\frac{n-2}{m}\right)+\log 2 m+\log \left(1+\frac{n}{2 m}\right)-\log 2 m\right. \\
- & \left.\log \left(1+\frac{n-2}{2 m}\right)-\log m-\log (1+1 / m)\right]
\end{aligned}
$$

Since $n \geq 2$, we have

$$
\begin{aligned}
& =\frac{1}{2}\left[\left(\frac{n-2}{m}-\frac{(n-2)^{2}}{2 m^{2}}+\frac{(n-2)^{3}}{3 m^{3}} \ldots\right)+\left(\frac{n}{2 m}-\frac{n^{2}}{8 m^{2}}+\ldots\right)\right. \\
& \left.-\left(\frac{n-2}{2 m}-\frac{(n-2)^{2}}{8 m^{2}}+\ldots\right)-\left(\frac{1}{m}-\frac{1}{2 m^{2}}+\ldots\right)\right] \rightarrow 0 \text { as } m \rightarrow \infty
\end{aligned}
$$

Hence

$$
\left[\frac{(n+m-2)(n+2 m)}{(n+2 m-2)(m+1)}\right]^{1 / 2} \rightarrow 1 \text { as } m \rightarrow \infty
$$

Since $T(g)=T(h)=T$, We get from above inequality

$$
T \leq \limsup _{m \rightarrow \infty} \frac{m}{\rho}\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|^{\rho} .
$$

Hence the proof of (3.5) is completed.
To prove (3.6) and (3.7), let us consider an entire function $f(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$ of order $\rho(f)$ and type $T(f)$. If $\left|\frac{H_{m}\left(e^{*}\right)}{H_{m+1}\left(e^{*}\right)}\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$ then we know ([12],[2,Thm.2]) that

$$
\begin{equation*}
\rho(f)=\limsup _{m \rightarrow \infty} \frac{\log m}{\log \left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|} \tag{3.9}
\end{equation*}
$$

Further we know [8, Thm.3] that

$$
\begin{equation*}
\limsup _{m \rightarrow \infty} \frac{m}{\rho(f)}\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|^{\rho(f)} \leq e T(f) \tag{3.10}
\end{equation*}
$$

Let us suppose that $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$. From Lemma $4,\left(\alpha_{m} / \alpha_{m+1}\right)$ also forms a non-decreasing
function of $m$ for $m>m_{0}$. Applying (3.9) to $g(z)=\sum_{m=0}^{\infty} \sqrt{d_{m}} H_{m}\left(e^{*}\right) z^{m}$, we get

$$
\begin{gathered}
\rho(g)=\limsup _{m \rightarrow \infty} \frac{\log m}{\log \left(\alpha_{m} / \alpha_{m+1}\right)} \\
=\limsup _{m \rightarrow \infty} \frac{\log m}{\log \left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|+\frac{1}{2}[\log (n+2 m-2)+\log (m+1)-\log (n-2 m)-\log (n+m-2)]} \\
=\limsup _{m \rightarrow \infty} \frac{\log m}{\log \left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|},
\end{gathered}
$$

using the calculations of the first part. Since $\rho(g)=\rho(h)=\rho$, we obtain (3.7). Now using (3.10) for $g(z)=\sum_{m=0}^{\infty} \sqrt{d_{m}} H_{m}\left(e^{*}\right) z^{m}$, we get

$$
\limsup _{m \rightarrow \infty} \frac{m}{\rho(g)}\left[\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|\left[\frac{(n+2 m)(n+m-2)}{(n+2 m-2)(m+1)}\right]^{1 / 2}\right]^{\rho(g)} \leq e T(g)
$$

Since $\rho(g)=\rho(h)=\rho, T(g)=T(h)=T$, we thus obtain

$$
\limsup _{m \rightarrow \infty} \frac{m}{\rho}\left|\frac{H_{m+1}\left(e^{*}\right)}{H_{m}\left(e^{*}\right)}\right|^{\rho} \leq e T .
$$

Hence the proof of Theorem 2 is completed.
Finally we obtain the coefficient characterizations of the lower order $\lambda$ and lower type $t$ of $h \epsilon \aleph_{n}$.

Theorem 3. Let $h \in \aleph_{n}$ can be extended to an entire function of order $\rho, 0<$ $\rho<\infty$, lower order $\lambda$, and lower type $t$. If $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a nondecreasing function of $m$ for $m>m_{0}$, then

$$
\begin{align*}
& \lambda=\liminf _{m \rightarrow \infty} \frac{m \log m}{\log \left|H_{m}\left(e^{*}\right)\right|^{-1}}  \tag{3.11}\\
& t=\liminf _{m \rightarrow \infty} \frac{m}{e \rho}\left|H_{m}\left(e^{*}\right)\right|^{\rho / m} . \tag{3.12}
\end{align*}
$$

Proof. For entire function $f(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$, if $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$ then we have ([9,Thm.2],[11]),

$$
\begin{equation*}
\lambda(f)=\liminf _{m \rightarrow \infty} \frac{m \log m}{\log \left|H_{m}\left(e^{*}\right)\right|^{-1}} \tag{3.13}
\end{equation*}
$$

Let $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$. Applying Lemma 4 and (3.13) to $g(z)=\sum_{m=0}^{\infty} \sqrt{d_{m}} H_{m}\left(e^{*}\right) z^{m}$,

$$
\begin{align*}
\lambda(g)= & \liminf _{m \rightarrow \infty} \frac{m \log m}{\left.\log H_{m}\left(e^{*}\right)\right|^{-1}-\log \left(d_{m}\right)^{1 / 2}} \\
& =\liminf _{m \rightarrow \infty} \frac{m \log m \log H_{m}\left(e^{*}\right)^{-1}}{.} \tag{3.14}
\end{align*}
$$

In view of (3.3) with the relations (3.13) and (3.14), the proof of (3.11) is completed.

If $f(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$ is an entire function of order $\rho(f)$, lower type $t(f)$ and $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$, then by a result of Shah [13], we get

$$
\begin{aligned}
t(f) & =\liminf _{m \rightarrow \infty} \frac{m}{e \rho(f)}\left|H_{m}\left(e^{*}\right)\right|^{\rho(f) / m} \\
t(g) & =\liminf _{m \rightarrow \infty} \frac{m}{e \rho(g)}\left|H_{m}\left(e^{*}\right)\right|^{\rho(g) / m}
\end{aligned}
$$

(3.12) now follows in view of (3.1) and (3.4). This completes the proof of Theorem 3.

Theorem 4. Let $h \in \aleph_{n}$ can be extended to an entire function of lower order $\lambda$, and let $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$. Then

$$
\begin{equation*}
\lambda=\liminf _{m \rightarrow \infty} \frac{\log m}{\log \left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|} \tag{3.15}
\end{equation*}
$$

Proof . For an entire function $f(z)=\sum_{m=0}^{\infty} H_{m}\left(e^{*}\right) z^{m}$, from [10,corollary,p.312], we have

$$
\begin{equation*}
\lambda(f)=\liminf _{m \rightarrow \infty} \frac{\log m}{\log \left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|} \tag{3.16}
\end{equation*}
$$

provided $\left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|$ forms a non-decreasing function of $m$ for $m>m_{0}$. Using the condition on $\left\{\alpha_{m}\right\}$ we can easily prove, that

$$
\begin{equation*}
\lambda(g)=\liminf _{m \rightarrow \infty} \frac{\log m}{\log \left|H_{m}\left(e^{*}\right) / H_{m+1}\left(e^{*}\right)\right|} \tag{3.17}
\end{equation*}
$$

The relation (3.15) follows in views in view of (3.3) with (3.16) and (3.17).
Acknowledgements. The author is very much thankful to the learned referee for giving fruitful comments to improve the paper.

## References

[1] S. Axler, P. Bourdon, and W. Ramey, Harmonic Function Theory, Springer-Verlag, New York, 1992.
[2] S. K. Bajpai, G. P. Kapoor, and O. P. Juneja, On entire functions of fast growth, Trans. Amer. Math. Soc., 203(1975), 275-297.
[3] R. P. Boas, Entire functions, Academic Press, 1954.
[4] M. Brelot and G. Choquet, Polynomes Harmoniques et Polyharmoniques, Seconde Colloque sur les equations aux derives partiells, Bruxelles ,1954.
[5] A. J. Fryant, Spherical harmonic expansions, Pure Appl. Math. Sci., 22(1-2)(1985), 25-31.
[6] A. J. Fryant and H. Shankar, Bounds on the maximam modulus of harmonic functions, The Mathematics Student, 55 no.1-4 (1987), 103-116.
[7] B. Grigorjan, Uniqueness theorems for harmonic functions of three variables in a domain of rotation, Izv. Akad. Nauk Armjan SSR Ser. Mat., 7(1972), 81-89[ In Russian] English Translation, Sov. Mat., 7(1972), 8189.
[8] O. P. Juneja, On the coefficients of an entire series of finite order, Arch. Math., 21(1970), 374-378.
[9] O. P. Juneja and Prem Singh, On the growth of an entire series with gaps, J. Math. Anal. Appl., 30 no. 2 (1970), 330-334.
[10] O. P. Juneja and G. P. Kapoor, On the lower order of entire functions, J. London Math. Soc., 5 no. 2 (1972), 310-312.
[11] N. V. Rao, Carlson theorem for harmonic function in $R^{N}$,J. Approx. Theory, 12(1974), 309-314.
[12] S. M. Shah, On the lower order of integral functions, Bull. Amer. Math. Soc., 52(1946), 1046-1052.
[13] S. M. Shah, On the coefficient of an entire series of finite order, J. London Math. Soc., 26(1952), 45-46.
[14] G. S. Srivastava, On the coefficients of entire harmonic functions in $R^{3}$, Ganita, 51 no. 2 (2000), 169-178.
[15] E. Stein and G. Weiss, Fourier Analysis on Euclidean Spaces, Princeton University Press, Princeton, New Jersey, 1971.


[^0]:    *2000 Mathematics Subject Classification. Primary 30E10.
    †E-mail: d_ kumar001@rediffmail.com

